N = 0l & At & Ml A

20148 = 20 A LEHSH Aol AP A
2N Aol AIE A
MR
Sl BHANYALTO AFE B (S &2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Aol AP A 28,561,640 32,254,535 N 3,692,895
= 9,373,000
2 5,855,000
= 776,200
= 12,557,440
AT 22 9,720,988 12,341,398 N2,620,410
2 5,440,000
== 41,700
= 4,239,288
ZAUT UM LCO A 23 8,167,000 10,814,000 N2,647,000
2 4,820,000
= 3,347,000
SHEMES SO 5,300,000 7,637,000 A 2,337,000
z 3,960,000
= 1,340,000
401 AlEHIZ 201 Y| 5,300,000 7,637,000 N 2,337,000
= 3,960,000
= 1,340,000
01 A& H| 5,281,000 7,277,000 A 1,996,000
OYL . BHANT UABLNNE LA+ CEE
AFE 2,491,000
2 2,000,000
2 491,000
OSHAPNYALCHIAY 2,790,000
2 1,960,000
= 830,000
03 Al 20| 19,000 10,000 9,000
0L GHANT MRS NYLLEHT
A 9,000
OSSN LA EAIS 10,000
A= ZEOE X[ A 2| Al A E 2,867,000 3,177,000 A 310,000
2 860,000
= 2,007,000
403 XX SHHS K201 H 2,867,000 3,177,000 A 310,000
2 860,000
= 2,007,000
02 SO 2SO CHeHOH e A I 2,867,000 3,177,000 A 310,000
OALT HAUZMAUACIAAE REAS 2,867,000
2 860,000
= 2,007,000
SHEXNS0ISASE AN 23 1,553,988 1,527,398 26,590
2 620,000
& 41,700
= 892,288
ATRLEANE 2 165,988 169,898 £3,910
201 Bt 156,778 160,478 AN 3,700




2N Aol AIE A
My Nz
S SHEXNHUSHLT AFE 33 (S &2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 156,778 0 156,778
O ==& & At 156,778
ORXlot=& 4= A (10018t =2)2E 13
75,8003 %243l A~ 18,420
OHZ=LRAS2AAH(BIE=2)EED 18]
27,000 & #3104 &~ %23 1,674
OH=LRAL2AAH (O E=2)2E 135
217,000 #3104 &~ 6,727
OIS A= T 2 AtH (55 et = )E 13
303,520& *274 0 A~ 83,165
OIS LSHAHI (1382 )20|1Y
56,5203 *x274 ) A= *33] 46,460
OULHEZEAAH (BE2)2D|1Y
33, 120 2 A 53] 332
206 M = dl 9,210 9,420 A210
01 =4l 9,210 9,420 A210
OIS LEAAANE 22 H=EPY
170,000 *308F A 5,100
OIS AsHER
5,000 x3kg*x274 0 2 4,110
SESAMESSNLAY 500,000 554,000 A 54,000
2 350,000
= 150,000
401 Al HI L £ 0HHI 500,000 554,000 A 54,000
2 350,000
= 150,000
01 Al& b 496,000 550,000 A 54000
SESYMEZESIWEAS 496,000
2 350,000
= 146,000
03 AlE 201 Y| 4,000 4,000 0
OsEsgMES LN AY 4,000
AR AN ALS 386,000 360,000 26,000
2 270,000
= 116,000
401 AlEHIZL 2 0HY| 386,000 360,000 26,000
2 270,000
= 116,000
01 Al& H| 383,000 357,000 26,000
OALARBRETSAEINHAIY 383,000
2 270,000
= 113,000
03 Al&E 201 Y| 3,000 3,000 0
OAARBLETAEINEALY 3,000
MNrCHERY 3,000 4,500 A 1,500




AN dot=SAFE A
My Nz
SR SOEXNSH4LE SN B3 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
o=zt AL 2,000
203 YR =2t 1,000 1,000 0
03 Al =AY R =&Y 1,000 1,000 0
oMLz DAL 1,000
A2AZEEAENES=AE 360,000 340,000 20,000
401 Al HI K 201 I 360,000 340,000 20,000
01 A& Hl 360,000 340,000 20,000
OLAZE=TAEMNESAY 300,000
OEZAALFEANENEFALY 20,000
OUSAAZFSAENESAY 20,000
OZLLASSTAEMNE ALY 50,000
ONHE(ME)AAZ ST AIENE S AL 50,000
OBUH(M)ARESSAIEINESAY 50,000
OFR0AAZFEANENES ALY 80,000
OHSAAZSSSAENE ALY 30,000
OLMREBEEANENSELELILX
1,000, 000& *20H A 20,000
OAREFEANLZEAALISA
2,000,0002 * 1094 A& 20,000
O=ZE20I A3 E X ALY
2,000,0002 * 1094 A& 20,000
A2AZCAEAE2ACIAY 139,000 99,000 40,000
< 41,700
e 97,300
401 Al HIZ 201 8] 139,000 99,000 40,000
< 41,700
s 97,300
01 A& HI 139,000 99,000 40,000
OAREF=EAERE 2L ALY 139,000
< 41,700
s 97,300
=30t 2el 13,557,097 15,258,631 A 1,701,534
= 7,427,000
& 415,000
< 734,500
s 4,980,597
St=2aXMelAE2d 1,311,637 1,136,461 175,176
St=HMelAld 29 2el 819,837 678,086 141,751
101 @124l 32,869 29, 166 3,703
04 JI2ZtHZ22HEE = 32,869 29, 166 3,703




2N
X ZH -
L= B

el

ASts T AP A
3otk 2d
Ste=E2xXelAMd2d

SA BB O () - MM - HES 0l &+ o4 il
OAd2eld ¥ AEdEXRR R 32,869
OJles 41,6803 »2H x247 20,590
Onrssgdsd 41,6803 «2Y x52 4,335
OFg=z2e=g 62,5203 « 1«52 3,252
ORsSsit=4g 41,6803 2«12 1,001
OI20HSRES 29,178,000& *4 . 5% 1,314
CHLZEERE 3 29,178,000& *2.945% 860
OLRABHREF 860, 000& x6.55% 57
CLEZERES 29,178,000& *1.5% 438
OttEdg = 29,178,000& *3.5% 1,022
201 L2l 539,580
01 A2 2| 24,880
O R<Iget=:]l 22,000
OHJI=Helbl 20,800
— o8& E8Mel(1d, 33, HE)
130,000& »160& 20,800
Odot==d Xl &2&4H 300,000 =43l 1,200
ou=l 2,880
Ooxgs 60,0003 16 *23] 1,920
O& g3t 40,000 *16YH 13 640
O&st & 29 20,0003 *16%H x13] 320
02 3323l 514,700
03323 % HA 456,100
Oldote=HMelAE &EIQa(2R, 25A4
ZE) 37,000,000& 128 444,000
(OFSWIRCIFSE=-R-1k: ]| 100,000& * 12l 100
Os2HHa ds3dl 1,000,000& 128 12,000
oozl 1,140
OAINEZREHHEZH(ER)
1,900& +504 =122 1,140
OA& &8l R Xdl 52,250
OJIHANE SR 2e] 28,000
—2dEI S 2 500,000 *3CH 1,500
—=FEOISI 2 500, 0002 »5CH 2,500
—dsdExH 500, 0002 *2CH 1,000
— &SR EH 25J/+4& 1,000,000 *6CH 6,000
—ExJ7X &2 2,000,000& *2CH 4,000
—AHOIAH & 1,000, 0002 »3CH 3,000
—d=BJ 722 500, 0002 =8 CH 4,000
—32JIwsX &2 500,000 *4CH 2,000
— 2T Y AR X 22l 1,000,000& »40H 4,000
O&EIIANE R 2el 8,650




AN dot=SAFE A
Ny ZRolAT B2
St=2MelAE2d o &)
HE - B (3H) - KISAY - BYS il HImEET
—It2smNES 50,000 =334 1,650
—&INELARS 20,000& x10IH x10& 2,000
— S22 HAHAPCSIHE 7L 500, 000 & 4K 2,000
HEEH =& 1,000,000& »3CH 3,000
OLn4dst=HMelAld 8I1&d HE FIIZA
1,200,000& *13] 1,200
O=Z&TNMS |22l 9,600
— T 2te| & Akl 9,600,000& =13l 9,600
O& & aZHl sl 4,800
— & HMEJEH WA 1,500,000& »23] 3,000
— DO & =S WAl 500, 000& 23] 1,000
—DAEINEZI MHEEH LA
400,000& *23l 800
O Xt& & Byl 2,605,000 »2CH 5,210
202 04l 7,050 6,700 350
01 = LH 4 HI 5,650 5,650 0
Odt=HMelAEE =20 5,650
05 SR W 1,400 1,050 350
Oz 4dt=E83l Wsol 350,000& »4H 1,400
203 YR =&t 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
Odt=xXelAle 2 & QIFdiA 1,000
206 M= Hl 40,754 41,660 A 906
01 M= 4l 40,754 41,660 A 906
Odt=HelAlE 457l 25,054
LE(AHMA) 2203 »180kg x365 2 14,454
CanzxsdH 106,000& 100 10,600
osgx((0cA) 7 60,000 1004 6,000
oagazd 9,700
Oaga M7 50,000& *15F x4 3] 3,000
OaEs =7 72 80,000& *10& *43] 3,200
OHEZ= HECZEE #& 70,000&+505 3,500
307 21201 A 108,984 0 108,984
05 RIZt2IEt = 108,984 0 108,984
OHIFALANAAE 2HRAE (DM, 35, HS
) 108,984
ool 157,000%523] *30H & +2H 48,984
O™ IIAI & 2,800,000& 153 42,000
OALBHEES 3,000,000& *x67| & 18,000
401 AIEHI L 2CHEI 89,600 93,000 A 3,400
01 A& tl 89,600 93,000 A 3,400




2AMN: Aot ALY A
Hm: ZZAE 22
SR P ENE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os=XIIAHEX WS A 19,000, 0002 * 14 19,000
OzBEMR 2=5I] WX SA
17,000,000 = 1CH 17,000
OZBENEX JHEX =& 3A
21,600,000& »14] 21,600
OEIIHtEZ s 6,000, 000& *2CH 12,000
O&aga BIIEX AX3A 20,000,000 14! 20,000
s AIE2d 22 35,000 25,000 10,000
201 LEt2 Y| 15,000 15,000 0
02 33249l 15,000 15,000 0
O A& &Hl S X 15,000
O2=d8HelAlE X2 15,000
—g8&8=EE ™Il =4 5,000,000 *2CH 10,000
—EIO &S =4 1,000,000& 53] 5,000
401 Al HI YL 2 0HHI 20,000 10,000 10,000
01 Al &I 20,000 10,000 10,000
cEX2AIE EFHEH =83 A
20,000,000& * 14 20,000
ot XESAME2F 2 201,000 35,000 166,000
201 Bt A | 25,000 25,000 0
02 35244l 25,000 25,000 0
O A& & Hl S XYl 25,000
OfsAN4d ZEX HSHME 6003 *20,00004 12,000
Oodt+=EHANESAMLES AR (IIEFE, =4
108) 13,000
— SUDHSH 2,000, 000& *x24! 4,000
—AXJI5IEH=H 1,000,000& x45 4,000
—JIEtAE2E WH 100, 000& *10& x53] 5,000
401 Al HI YL 2 0HHI 176,000 10,000 166,000
01 A& HI 176,000 10,000 166,000
OAFUXAIE 5D HE &X
176,000, 000& * 14 176,000
SHEZZE 2d 22 58,460 64,760 A6,300
201 Bt A H| 46,460 44,760 1,700
01 AFR2 22l Yl 3,360 3,360 0
O Yet+=gH| 3,360
O4YZEHEDY MoV BLLE
150,000& = 12& 1,800
ORI BHA A LS 130,000& *12& 1,560
02 352494l 43,100 41,400 1,700
OZ22Z2L A 33,600




AN dot=SAFE A
Ny ZRolAT B2
& StExXelAE2S (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFHEZHEI QI (5,24 WAL
2,800,000& x12& 33,600
O A& &8l S Xl 9,500
+ESHEZE 2A2el 6,500
—NSUESH WA 2,000, 000 2CH 4,000
— B =+d 1,000, 000& »2CH 2,000
— 2RI 2e 500,000 1Al 500
OgasHEZE R 2l 3,000
—JIEtAR2E 200,000 x5& 1,000
— ZE=+Hd 500,000& »4CH 2,000
401 AIEHI L 201 12,000 20,000 A8,000
01 A& Hl 12,000 20,000 A 8,000
OZFAHEBIZZ g el =3 A
12,000, 000& 14 12,000
St=HMelAlE SA3ES ALY 10,979 14,402 A 3,423
101 @124l 6,879 6,302 577
04 JIZHHNZ2Z2XNSE+ 6,879 6,302 577
ODHTLHANLLAT HFHFY 2R
83,980 *4H 102 3,360
OREFRA(RUA )2 o2
41,680 *3H 102 1,251
ODNHEGEHAANLL LD 22722 (H
X, &H) 83,980 x5 32 1,260
OBABO R (24, Lo, DANUHAEY Q2
83,980 x4H 32 1,008
201 Let2d] 2,500 2,500 0
02 23=24gHl 2,500 2,500 0
O = Hl 1,500
OUZINLECIAIN(FLR)
2,000& 504 =153 1,500
OAEZHI S X 1,000
OUW=JIL&CI2I =2l 200,000 =504 1,000
206 M= Hl 1,600 2,600 A 1,000
M=l 1,600 2,600 A 1,000
OsAFL(HM=HMES) 200,000 »3<+ A 600
Odt=HMelAld =37
2,000 =100 x5& 1,000
I stot=HMel Al 823 95,813 319,213 A 223,400
201 ¢4l 57,500 53,900 3,600
01 At 2t 2l 4,200 4,200 0
oLt~ 4,200
ORoZHANAE 2= 150,000& 128 1,800




SA: ABIAZAIYA
Hm: ZZ4C B
thel: Ste=E2LMHelANE2Y (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O&JItdUE =2 200,000& x12& 2,400
02 8323l 53,300 49,700 3,600
02323 ¥ HMAl 38,400
Odt=XclAld &J13  3,000,000&*12& 36,000
(OFS Sy =] 100,000& = 12& 1,200
Oosteaza 100, 000& =123 1,200
OA& EHl R Xl 14,900
OEZ%H 500,000& »4CH 2,000
Og&=H™2 IR X & 3,000,000 = 1CH 3,000
Oti2YEZTR S X 22| 500,000& = 10CH 5,000
OAHEIIwX &2 700,000& =7 CH 4,900
206 M= Hl 6,313 6,313 0
M = 8l 6,313 6,313 0
OMZHl 6,313
OnN=XRSEH 9,000 *1.8kg*365 5,913
OXOtEAMUES 1,000& *4004 400
401 Al HI & 28I 32,000 259,000 A 227,000
01 A& HI 32,000 259,000 A 227,000
OFAATEH WA X ASFLLEH XS A
13,000, 000& 14! 13,000
OsdX0ISEHE & dSELELXSA
19,000, 000& 14! 19,000
HFEot=XANE2H 90,548 0 90,548
101 @121 b 3,335 0 3,335
04 JIZHHZ2Z2XNESE S+ 3,335 0 3,335
Odt=HelAIdENESSIAMELRY
41,6803 «10H 2 43 3,335
201 Let24d] 77,500 0 77,500
01 At 221 8,400 0 8.400
oL 8,400
OROIAHAI A 42
200,000& 200 2 =128 4,800
OHFI|ItMH# =T 150,000 *2I4 A 12 3,600
02 8323l 69,100 0 69,100
O=s==Z A 63,600
ONFot=HMeANE &Iz
3,500,000& x12& 42,000
OSHEZHE MI2(ds,3d)
1,500,000 »12& 18,000
OZ2HM0o Stz 300,000& »12& 3,600
O A& EHl R XlHl 5,500
OJIHANE s X 2teldl 300,000& 103 3,000




2N
X ZH -
L= B

el

o o o
1+ 0p o
AL 9 >

) - H2AY - BHES

Off &t 24

=
i

2

200,000& 105
500,000& »1CH

2,000
500

206 M= Hl

8,813

8,813

01 M= dl

200,000& =32t A
9,000& *2.5kg 365

8,813
600
8,213

8,813

~
=)
&)
Pl

x
ut]
Jn
==

900

900

900, 000& 1CH

900
900

900

St el ZHAY

Mo |

8,112,950
5,103,000
415,000
734,500
,860,450

—

7,625,000

487,950

DEYENEssAE

EUNCR =

830,000
415,000
207,500
207,500

1,200,000

A 370,000

401 AIEHIZ 2 I

M) HN ok

830,000
415,000
207,500
207,500

1,200,000

A 370,000

01 A& HI

OLNdHEHMESSA

M kN oR

830,000

830,000
415,000
207,500
207,500

1,170,000

A 340,000

S BICHD B 2 7 2] & & X ALY

Mo A

806,000
564,000

121
121

,000
,000

2,417,000

A 1,611,000

401 AIEHIZ 2 CHYI

H A

806
564
121
121

,000
,000
,000
,000

2,417,000

A 1,611,000

02

>
> x

=

07
o

=

©
>
il
e
i
0
Ql
1

0
1)
il
40
Ql
1
_>{‘_|
0
W
>
12

Bl
o
0A
x
Pl
1)

MW

HH A

655
655
459
98
98
150

150
105
23
22

,000
,000
,000
,000
,000
,000

,000
,000
,000
,000

2,417,000

A 1,762,000

150,000

«©




2N Aol AIE A
Ny ZRolAT B2
E2: olx=Xel &AL (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al 20| 1,000 0 1,000
OMNEHRG =X 2l &4 X ALY 1,000
ot=Hel =Mool S ALY 2,533,000 0 2,533,000
= 1,751,000
= 782,000
401 Al HI L E0HHI 2,533,000 0 2,533,000
= 1,751,000
= 782,000
01 A& HI 2,503,000 0 2,503,000
OXNHoltE=Hel=mMol2AIY 2,503,000
= 1,751,000
= 752,000
02 2eldl 30,000 0 30,000
ODAEBtEXMeI =0l S ALY 30,000
HEsHEOISotE=SEHH ALY 651,000 720,000 A 69,000
= 599,000
= 26,000
= 26,000
401 Al HI L 2 0HHI 651,000 720,000 A 69,000
= 599,000
&< 26,000
iy 26,000
01 Al& H| 651,000 720,000 A 69,000
O¥HEsHE0ISolx== U ALY 651,000
= 599,000
= 26,000
= 26,000
Al=sHE0IS2olx==dEAIE 807,000 0 807,000
= 689,000
= 59,000
= 59,000
1T AIEHI YL 20b] 807,000 0 807,000
= 689,000
== 59,000
= 59,000
01 Al&H| 805,000 0 805,000
OY9Ul=sE0ISot == 83U ALY 805,000
= 689,000
= 59,000
= 57,000
03 AIEE2HH]| 2,000 0 2,000
OZ¥U=s0=E0ISolx== U ALY 2,000
A2 ol AH J=2HE(HYE) =824 340,950 400,000 A 59,050
401 Al HI L 204 HI 340,950 400,000 A 59,050
1 Al& H| 340,950 400,000 A 59,050




2N
X ZH -
L= B

el

o 12

o oy 0z
g o
ST
[T
04 M =
© 5 b

=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OnEZ ot FHl JI=2HE(HE) =884 340,950
=

HEDOISot= = FHIALY 715,000 0 715,000
500,000
107,000
108,000

RURL Y

401 AIEBIZ S CHYI 715,000 0 715,000
500,000
107,000
108,000

UL RN

01 A& HI 713,000 0 713,000
OUA=sHE0tSot==FH AL 713,000
500,000

107,000
106,000

03 Al 2 THHI 2,000 0 2,000

OUA=s0HE0tSot==FH AL 2,000

hh

Mo R

SasHEOSot= S I A Y 715,000 0 715,000
500,000
107,000
108,000

Mo

401 AIEBIZ S CHYI 715,000 0 715,000
500,000

107,000
108,000

U AT

01 A& HI 715,000 0 715,000
OSsts0ENSot== ALY 715,000
500,000

107,000
108,000

MW

SesHEOSot== UMY 715,000 0 715,000
500,000

107,000
108,000

HH A

401 AIEHIZL 2 I 715,000 0 715,000

500,000
107,000
108,000

HH A

01 A& HI 715,000 0 715,000
OSEsOHEMSHEZEHEIAMY 715,000
500,000

107,000
108,000

EURL Y

Ot =2t H ALY 3,830,000 6,239,000 A2,409,000
2,324,000
1,506,000

M H

SHot=TFHIAY 55,000 245,000 A 190,000




2N
X ZH -
L= B
el

ASts T AP A
3otk 2d
Oh==2t H A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

401 A& HIZ 201 I 55,000 245,000 A 190,000

01 A& HI 55,000 245,000 A 190,000
SHOSEUIALY 55,000
Ol dshtSct+=SFEHI S At 25,000
OHE JtsOtsdt=EHI S A 30,000

HB GBI ALY 500,000 3,985,000 3,485,000
= 500,000

401 AIEHI L 2CHYI 500,000 3,985,000 A 3,485,000
= 500,000

01 A& HI 500,000 3,585,000 A 3,085,000
OHFHO=2HEH ALY 500,000
= 500,000

DESat=2H28HEZHI ALY 1,891,000 2,009,000 A 118,000
= 1,324,000
[ia 567,000

401 AIEHI L 2CHEI 1,891,000 2,009,000 A 118,000
= 1,324,000
s 567,000

01 A& Bl 1,689,000 1,707,000 A 18,000
O Sot=2H2EH EHI ALY 1,689,000
= 1,184,000
e 505,000

02 2feldl 200,000 300,000 A 100,000
O got=2 H2E H E Bl AL 200,000
= 140,000
s 60,000

03 AIE 2 THHI 2,000 2,000 0
ONd Sot==2H2EHHHI ALY 2,000

HH & ot=2t H2EH H E HI AL 714,000 0 714,000
= 500,000
i 214,000

401 Al HIL 2 THY| 714,000 0 714,000
= 500,000
s 214,000

01 A& HI 612,000 0 612,000
O Edt==2t H2EH H B HIALY 612,000
= 430,000
[ia 182,000

02 Zeltl 100,000 0 100,000
O Eot==2t H2EH H B HIALY 100,000
= 70,000
e 30,000

03 A& S THHI 2,000 0 2,000
O Edt==2tH2E H B HIALY 2,000




MBlETAY A
225 E 2
St 2 ALY (&9 &)
SHE|
SN FH-SA(EN) - MBAY - BES e HlnE2
A2 ot Jsro=2d 350,000 0 350,000
401 Al HI 2 200 350,000 0 350,000
01 Al&HI 350,000 0 350,000
ODNEZ 2N JasrHEd 350,000
ST HH =SH2UXNS HHLE 29 320,000 0 320,000
401 Al&HI 2 200 320,000 0 320,000
01 Al&HI 320,000 0 320,000
Obt+=ETHH SN 22y 29 320,000
Slac2d o 22| 302,510 258,170 44,340
EstaTAasg 2 302,510 258, 170 44,340
201 22| 53,680 46,360 7,320
02 2229 53,680 46,360 7,320
02222 2 MA 38,280
OA2RZE2d:HAANL IS
130,000 #2271 A * 122 34,320
OA2RZ2E2Iot =ML B2 ZHA
90, 000% #2201 A *23] 3,960
O Al & ZHI S X HI 15,400
OARBZZ2et:=HMRIAIE JIHAERXES
&]] 700,000 x2204 A 15,400
202 O{H| 3,000 3,000 0
01 2ol 3,000 3,000 0
OBte T A 2O 3,000
203 YR FXH 1,000 1,000 0
03 Al ZEAREZAH| 1,000 1,000 0
OdtC DI A}NA 1,000
307 BI2+0| & 170,910 144,450 26,460
05 D12t Er3 170,910 144,450 26,460
OAARZZGI2HEANE 2g9 e 170,910
OARRZ25t=H2AA &2 2 AHI (213])
150,000 70 A x12€ 12,600
OARRZ2=H2 Al &2 2 AHI(=13])
150,000 154 A #52% 117,000
OAN&2" ol2H| 51,0009 »22 185 18,870
ONM==Y ZH 45,0002 #2201 A %43] x4 S 15,840
OAN&29H| 300,000 x2201 £ 6,600
401 Al&HIZ 200 73,920 63,360 10,560
01 Al&HI 73,920 63,360 10,560
OAARZZot2HE AL JIsX T
10,560,000 74 A 73,920




0z

0=|l
Mo o o
02 Ho H+

A

af

0
02 H
oy =

~
=5
0>

ot AR &)

HH

3,248,204

SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
HE2HEH| 89,351 89,481 A 130
J23 8 (AdtE=ZAFE A) 89,351 89,481 A 130
HEF=XZ I 3,000 3,000 0
203 € R =&lY| 3,000 3,000 0
04 2SI L RF=AH| 3,000 3,000 0
ORANEIEYERFAH| 250,000& x12& 3,000
2 E2AH| 50,351 50,481 A 130
201 et A | 50,351 50,481 A 130
01 AFR2t2l Yl 38,867 48,637 N9,770
O YBt=gH| 11,793
OFASgII2+EH 5,825
O=2AJEH(EH 300,000& = 13| x2CH 600
OdI0OI M ESlE D] H(ed)zg
120, 000& *x23| *3H 720
OdloIdZ2IIZ2edEH(EH )Y
400,000 *13| = 1CH 400
oMYgIISEFLY 1,300& 300 x12& 468
Ogdaga22 NI EHH| 300,000& *13] 300
OsMEXN Y 20,0003 *30&f A %33 1,800
Osgx7¢ 140,000& = 12& 1,680
ogg9s+4Y 24,050
O AH| 50,0003 *1H x116Y 5,800
O=2&H| 50,0003 * 1 *365 18,250
OF=E=1l 3,024
OBAN2YEI 2= 2| 3,024
02 33249l 11,484 1,844 9,640
O2Z222Y M Al 9,640
OMslE=EAIE2 700,000& x12& 8,400
OstdNEREE =2 200,000& *23] 400
Oofdesea3 70,000& *123] 840
O A& ZHI =X 1,844
O& K= A 22l 300, 0003 x23| x2CH 1,200
OZEglHIlzx2al 34,000& x43| *4H 544
O A Xl 100,000& * 13| = 1CH 100
O bl 36,000 36,000 0
202 (4] 36,000 36,000 0
01 2L Y| 36,000 36,000 0
OJI=2gd R0 bl 200,000& x15H x12& 36,000
S S (Mot A A) 5,194,204 4,565,025 629,179
1,946,000




SA: ABIAZAIYA
HH: WRES (Yot ALY A)
EHel: WRAHHX S (Mot=ZAIEA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEAHANXE (Mot ASE 2) 3,248,204 2,338,025 910,179
N ELEIHEES 3,226,003 2,307,025 918,978
701 JIEtl AN &= 3,226,003 2,307,025 918,978
01 JIEtel HE &= 3,226,003 2,307,025 918,978
O+ SEIHNEES 3,226,003
OXNLM=CAIE&TALY 712,000
OXNga-Z e 2d 2| 1,165,524
O=%2(8=)7tl 1,307,479
O&E=JI&X MY 10,000
OAsAIEEZ 2 RA2a 31,000
ENLEELIHEES 22,201 31,000 A8,799
701 JIEISI AN &3 22,201 31,000 A8,799
01 JIEtSIHE &S 22,201 31,000 A8,799
O=x=ZIHEEEIHNNES 22,201
odototsdts= 22l 5,699
Od=0tsot=C=23H| 1,786
Osgitsdt=c 22l 8,397
Ositgdt==29H| 6,319
SBEXNE(AGI=T AL A) 1,946,000 2,227,000 A281,000
= 1,946,000
DEGt=HMel ELXAMLENR S AE 1,684,000 1,954,000 A 270,000
= 1,684,000
311 Xt S 01 Xk &k & 92,400 162,400 A70,000
= 92,400
05 JIEHXH S 01 At & & 92,400 162,400 270,000
OlNHot=HelEEXALES SO0 A& e 92,400
= 92,400
601 XL S =4 1,591,600 1,791,600 200,000
= 1,591,600
05 JIE=2 Xt Sz ae 1,591,600 1,791,600 200,000
ONHI=HelBLEXALEXNSAS A E 1,591,600
= 1,591,600
DEGt=HMelE DTS MelAlEMgsitde s 4E 173,000 180,000 AT7,000
= 173,000
311 X+ S0l A& 23,800 30,800 AT,000
= 23,800
05 JIEHXH S 01 At & & 23,800 30,800 A7,000
OlDdot=HMelZ DMl AMEAMLES S0 A
= 23,800
= 23,800
601 XL S A= &E 149,200 149,200 0




SA: ABIAZAIYA
HH: WRES (Yot ALY A)
gel EdXNS(Yot=EAg L) (cho &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 149,200
05 Bt =LY S S 4 E 149,200 149,200 0
ODMBLHABDEHAANLALENS DY
= 149,200
= 149,200
DEGt=HMelZEsH NNl AdASsSHIAe o 89,000 93,000 A 4,000
= 89,000
311 Xt S0l A& & 9,800 13,800 A 4,000
= 9,800
05 JIEt X+ SO0l Xt &t & 9,800 13,800 A 4,000
OndEat=HelEsHX M AELEAS SIS0 I
af g 9,800
= 9,800
601 A=A S&e 79,200 79,200 0
= 79,200
05 JIEt=2 R S S 4 E 79,200 79,200 0
0D+ HAZEHAXHRANLMNSSN2 S
af g 79,200
= 79,200




